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Listening 1  

Listen to an interview about tigers in India by a tiger expert Sanjit Roy 

and choose the correct answer A , B or C.  

Interviewer: There used to be more than 20,000 tigers in India, but today, 

despite heroic efforts by environmentalists to protect these great wildcats, 

there are fewer than 2000 left, in remote areas south-west of Delhi. Sanjit, 

why is this?  

Sanjit: Well, we have managed to deal with hunters who kill tigers for their 

wonderful fur, but we are now faced with a much greater problem. Cosmetics 

manufacturers in the West are struggling to meet the demand for products 

made from talcum powder, and this is bringing the Indian tiger to the point of 

extinction. 

Interviewer: So does talcum powder come from tigers? 

Sanjit: No, not at all. This white powder comes from marble and other 

stones, and is used in beauty products, such as eye make-up, lipstick, soap 

and deodorant. The global market for these products is worth literally billions 

of dollars to the cosmetics industry. 

Interviewer: But I still don't see the connection with tigers. Surely these 

products are harmless. 

Sanjit: Oh, yes, the products themselves are harmless. The problem is that 

the marble which talcum powder is made from is found in the tigers' last 

natural habitat. This habitat is being destroyed as the marble is extracted. 

Interviewer: Now I understand, Sanjit. So how serious is the problem? 



2 
 

Sanjit: I predict that, within ten years, the Indian tiger will be no more. It will 

be lost forever. And all because of our desire to look and smell more 

beautiful. 

Interviewer: But surely the tigers could be moved to a sanctuary or a reserve 

before it's too late. Aren't these protected by environmental laws? 

Sanjit: Oh, yes, they certainly are. However, you should not underestimate 

the impact of the processes used to get marble for talcum powder. Dynamite 

is used to blast open the ground which borders the tigers' habitat  and large 

areas of forest are destroyed to make way for the mining operations. 

Interviewer: So what does this loss of habitat actually mean for tigers? 

Sanjit: It means that the tigers don't have enough food and water because 

their hunting area has been drastically reduced in size. Remember also that 

the territory of an adult male tiger can be anything up to 100 square 

kilometers. 

Interviewer: Sanjit, what can be done to save the Indian tiger? 

Sanjit: Probably very little. Some of the world's biggest cosmetics 

manufacturers are not easily convinced of the damage they are doing to the 

environment, and to the Indian tiger in particular. However, the Indian 

government has begun to order the closure of several mines. But we need 

more action, and we need it now, before it's too late for the tiger. 

Interviewer: Sanjit, thank you. 

 


